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6 = 0 because it exercised at time to

Therefore , price is 10 at time to

Strategy : American put option has been exercised at time to,
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Therefore , for the European call option , the price is 11265
.
30

Strategy : at time to : borrow 14106.

15from bank and buy 253 .7145 shares of stock.

at time to , if stock goes up, sell 13
. 7145 shares of stock

and deposit all cash

if stock goes down , buy 34.2855 shares of stock
and borow 2742 . 84 from bark



(b) for American call option.
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Because American option will not exercise before t = 2 ., the price is same as

European option. Strategy is also same
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The price should be 17.57 at time to

Strategy : At time to , you should borrow 56 . 23 from bank and long 0 .738 shares of stoc.

At time to , if stock price goes up , you should borrow 31 . 44 from bank

S and long extra 0. 262 shares of stock

if stock price goes down , you should sell all of stocks and

put all cash into back.
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